HATT Ch R-2 Practice Name: k(,y Date: ~ Seat:

1. (3 points) If universal set 3. (4 points) Use synthetic division to find the quo-

U=1{0,1,2,3,4,5,6,7}, and tient and the remainder:
A=1{1,2,3,5},
B ={2,3,57}, 2% + 322 — 4 divided by z + 2
O={1a4’6}7
find (AUB)NC.
| -2l 2 o =
AoB=31,2,2,57§
R U
C = 2&,5/ s, F5 | | -2 O
(A U%)/\ C = Z”l 5’ b/ 75 . C(WD'HW‘,
A S
emcindon ;

2. (4 points) Determine the domain of the variable
in the expression, stating your answer in interval

notation.
22+ Tz +12
z3 —Og
Avotd division \?vo zew |
xZ=Ux Feo

% (x— (x4 £6
A/U@.L 0, 'iE,DMw',

-2 o 3

(= 3Dy (3000030 02)
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4. (6 points) Solve for z. 5. (5 points) Solve for ¢
x2—33m+4: i 5 N 32 oAl g2 g/t = 1
3 -1 2+zx+1l z2-1 qut' = -/::V“
xemwe v 5 WS- 2w +l =0
’(x»\)(x‘kxa—l) T el CU\ . (Xu\ —_ \) = 0
(% X’f’b> - -;(—%‘;’T‘l A = |
2, ol .
(‘x_(\()k-i’%ﬂ’( ‘EV‘( _ |
x—2- = S e o= T
® = 4

6. (3 points) In order to complete the square, what
should be added to the equation (DO NOT Solve
for ) 7

1
x2+§x=3

Mo ke aF xS

ERPVNS ,
(5 = %
Ao \aﬂjr&, 2y Aa~
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7. (4 points) Solve for z

™ 2

2t 24
xe ¢ {)—é—»

8. (3 points) Find the z and y intercepts and label
which is which. If none, state so: \

42 + 9> =4

k\/s = X2

p%MNuaf *Qu/ ;vv*jhrtéﬂfArs
RCE.

(')/O>z C\/O>)

( )y "2’)/(? ’2'"..)

St. Francis High School PRACTICE

2018

9. (5 points) Solve for z, stating your answer in in-
terval notation.

3x—4
2

— L S 3«4 <A

-3< <6

;_,./0 é5>< <6

2, 41
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10. (5 points) Solve the inequality, using the condi- 12. (4 points) Write the equation of the line contain-

tional number line and stating your answer in

interval notation

ing the points

2 F(=3) = -1
¢ —2r <8 f2)=-3
Kiepe =8 < O N ' \
(x+a)Yx-4)<0 (=3-1) °\}\ (2.-3)
+ N, - e ] -2

11. (4 points) Simplify

(=2)%z*(y2)?

32zy3z

3

9
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A

o A % +5 W = —\\
a<¢
Sy o L
J==z*"%

@{c,.

13. (5 points) Write the equation of the line perpen-
dicular to the line 3z — y = —4 and containing
the point (—2,4).

G;wl %‘0.(24 @‘P’ 2 Xf*ﬂ = - <t—;

LA: %X"l’

Slope s D

~ "‘
e L slope > T3

w-4 = L x+2)
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14. (4 points) Simplify 15. (4 points) Convert the following complex expres-
sions into standard a + bi form, showing more
z—-2 =z-1 than one step
z+2 x41 )
z 2z —3 "’”’"“""""
- - |
z+1 T G)’ t1 ) ( 3 )
Z(“)(X 'L/>-" (XW‘)O//) X C)( +\ ) 9 — 3
T e N
2T -% -3 ‘ .
, i 2
AX =2 % (x+\) 10 o
X -+ R
w =X -3
X DS
(r)(,‘.L)(*“"% X '\'5)
(b) 1153
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16. (3 points) Rationalize the denominator

vi_ (1-2z)
(+3/2) (1-32)

-2
\ — &

@»%F{m
_\F
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19. (4 points) What is the equation of the line in
the graph below? (use either general or slope

intercept-form)

17. (3 points) Multiply (2z — 5)(z% + = + 1)

3
AX =+ AL A
—5x* -5 -5 . .

&*3 ,5%2 -3 X -5

3; Z‘E;X +38

°C 5 x +lAy= kO

' 20. (8 points) Graph the following equations on the
axis below and label the lines a,b,c and d

(a) y==2

18. (4 points) Write the general formula to describe
the variation: The square of T varies directly
with the cube of a and inversely with the square

of d.
72 — k Q3
Aa.

St. Francis High School PRACTICE  Honors Algebra 2/Trigonometry Placement



Page 8 of 10 2018

25. (8 points) The volume V of an ideal gas varies
directly with the temperature T and inversely
with the pressure P. If 100 liters of oxygen at a
temperature of 300K has a pressure of 24 atmo-
spheres, find the pressure of the oxygen when the
temperature is increased to 310K and the volume
was reduced to only 80 liters.

(a) Establish variables or label a diagram.
I = conitad of PP Lonadidng
(‘ "‘/) T, P M\’%?wwo‘l:) oo Llw\/"ﬂﬁ 0N ‘Hj&ﬁm- 4’ e A€ BN,

(b) Write an equation(s) using these variables

V= kT

(c) Solve the equation(s) showing all steps.

= 87T
V=5
77-*'&——“’::_. %(3\92_'

- nre e 30

\ €0

.‘

7 = 3\

(d) Answer the question in a complete sentence.

/’(\r’\-a— v?(:e.zo,a N G SV ow‘\ &f- \94«' 3\ av“{’ﬂ“W\oﬁ(«)\'\ﬂM -
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21. (4 points) What is the coordinate of the point 23. (6 points) What is the center and radius of the
of intersection of line 3z + 2y = 4 with the line circle
4z — 5y = —33? P+ 44z —4y—1=0

B -t &u) =4
L\ N < S A =32 2 2
“ 20 (x+2)=<{ -2) =9
52\ 1Sx +104 = '

?X-—mg:»éb

(x4 ty+4) (4= —4uet) = (44

R — —

:2..3’)‘ ':-"‘Tlfé W"&( (~ 2, 2»)
o=
When o« = -2 (M--CQ):M ?)
— b + 2y = 4

22. (2 points) What is the midpoint between
(5h, —37) and (7h, —77)?

Sh+1lh —3p-7r
Z )

24. (4 points) What is the general form of the equa-

tion of a circle that is centered at (—3,2) with
radius 57

Q<+3)L+ (5’231 =23
2_,_,

(bk) ’5ﬂ>

Xi’.»—c:f’;\— O "4’9" /2 =0
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26. (8 points) A boat can travel at 30 miles per hour
in still water. It carries enough fuel for 2 hours.
The current the river is 5 miles per hour, so if it
travels downstream, how far can it travel before
it turns around so that it returns to its original
starting position just as it runs out of fuel?

(a) Establish variables or label a diagram.
ro\*L -+ WAL AA\.S -\@

downstremm | 2o+ | &£ 1364 |
zp-8 { S —C \/7/‘"2&1

e Foeamn |l e e

'{j = *’(: Ve %,.9\‘\,\ C) clq;u)wg”+'r*e,um ‘
X = d)ro toanca be‘,,{?qr.ev r’e:‘Jru.Wla_
(b) Write an equation(s) using these variables
" S fuernr
35 L = 2§ 2§«

b= 125 225 oues
L O 12~

w = 3T @sY -
Z [2—

(c) Solve the equation(s) showing all steps.

25 L = Jay - as+

" L O = = s ’
t = %‘ \,««va@f‘-f\.‘fﬁ

- %S'(%i)m?_l": 2,916 mile
K iz T 72.9 i

(d) Answer the question in a complete sentence.

/ﬂw Lol g Aol TR mle |
LMW‘B Treavn \be,«-(?@-(w__ .'-"’ AR aroda

20 Yt ¥ chues o s .or\'(a*.mk,..

r_fvd\ e w‘\X\mm:*C" Y‘\/\«W\/‘W‘% ok o Q‘ 'QU_Q,Q‘ ,
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Table 1: For office use only

Page | score | max | topics
1 11 | sets, domain, synthetic division
2 14 | factoring difference of cubes, quadratic form of fractional exponents,
abstract understanding of the completing the square technique
3 12 | absolute value, intercepts, linear inequality
4 18 | Quadratic inequality, negative exponents, line equation from points,
functional notation, perpendicular slope, point-slope form of a line
5 11 | complex fractions, complex numbers, rationalizing denominators
6 19 | multiplying polynomials, variation, graphing lines
7 16 | solving for z and y (substitution or simultaneous), midpoint formula,
equations of circles, application of completing the square technique
8 8 | variation word problem
9 8 | basic word problem (non-trivial problem solving)
Total 117
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